RETAINED LIFE ESTATES AND REMAINDER INTERESTS IN HOMES AND FARMLAND
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Includes second homes,
vacation homes, even a boat
|| with bathroom, cooking, and
sleeping facilities, if used by
the donor as a residence
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To this point we have been considering gifts of
remainder interests with retained life estates in
farmland. However, gifts of remainder interests
in the donot’s personal residence(s) with a
retained life estate can also be deducted,
although the calculations are a bit more
complex. The remainder interest must be in a
personal residence of the donor, but it need not
be the donor’s primary residence. Thus, for
example, the gift of a remainder interest in a
donor’s vacation home is deductible.

In fact, any home owned by the donor and used
by the donor as one of his or her residences will
qualify for a deductible remainder interest gift.
This can even include a boat with bathroom,
cooking, and sleeping facilities if it is actually
used by the donor as a residence.

Calculating the deduction for a charitable gift of
a remainder interest in a house is more
complicated than calculating the deduction for a
remainder interest in farmland. The deduction
for a remainder interest in a house will be less
than the deduction for a remainder interest in
farmland of the same value. This is because
farmland does not wear out or depreciate. In
contrast, houses, over time, wear out. This
expectation of the wearing out (depreciation) of
the house must be incorporated in the
estimation of the amount of value that the
charity will receive at the end of the life of the
donor/measuring life.
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59 year old donor giving on 1/31/17 Returning to our previous example, suppose
Remainder interest in Remainder interest in that the 59-year-old donor gave a remainder
$100,000 farm $100,000 home interest in a $100,000 personal residence, rather

than a remainder interest in $100,000 of

.71057 x $100,000 .71057 x $20,000 (land) farmland. The deduction for the gift of the

$71,057 Deduction 71057 x $10,000 (salvage) personal residence remainder interest would be
(.71057-.32720)x $70,000 ] han for the farmland inder ]

- ess than for the farmland remainder interest
$48,153 Deduction (871,057 for the farmland v. $48153 for the

home).
_ How is this deduction calculated? Part of
/5\ | the value of the personal residence is the value
Eactor of the land on which the residence sits. The
A F deduction for this part of the personal residence
faNae; F '/ is calculated exactly like the deduction for the
;\f} R R Y A //i /a farmland.  Thus, the remainder interest gift
o generates a deduction of 71.057% of the value
of the /and underlying the personal residence. (The 71.057% comes from the calculation process described
previously for farmland.) There is also presumed to be an element of the house that does not depreciate,
which is referred to as “salvage” value. Because this “salvage” value does not depreciate it is also deducted at
the same percentage as the land (71.057%). The remaining value of the residence, however, is presumed to
depreciate. Consequently, this portion of the value of the residence may not be deducted at the full 71.057%
used for farmland, but must be reduced by a depreciation reduction factor. In this case, using the example
described below, the depreciation reduction factor is .32720, or 32.720%. Thus, the depreciable part of the
residence may be deducted at 38.337% (i.e., 71.057% less 32.720%). Combining the parts that can be
deducted at 38.337% with the parts that can be deducted at 71.057% results in a total deduction of $48,153

for the $100,000 home.

.32720is the
Y Depreciation
-5 Reduction

Depreciation reduction factor How is this deprecia.rion reduction factor

calculated? The calculation can at first seem to

R factor age — R factor age after useful life of house | be complex or overwhelming. But, actually, it is

D factor age X Useful life of house* simply a matter of copying the correct numbers

*An appraiser can estimate the useful life of a house. IRS examples use 45 years. into a division problem, Aside from the

o :.; =2 ‘ :.}_ 2 ‘ :_; information located in the IRS table C of

/‘.ﬁt /~\‘ ”«ﬁ‘ publication 1459 and the §7520 rate, the only

«0D « D «D additional information needed is the age of the

donor/measuring life and the useful life of the
Table i house.

Fact%r: sf;’é 5;‘#2‘5%3%3?&“5' R faCtgrScii:;5§;t22@104 U_nli.ke other areas of tax lgw where

Interest at 1.6 Percent depreclatlon 18 1ncorporated nto tax

Afe e %:mm 510527.3-77.95371 =.32720 calculations, there are no set years for the

59 510527.3  34667.69 34667.69 X 45 : depreciable life of a residence in this context.

104 77.95371  47.58894 et mrmnesi o biepivt | The useful life of the house should be estimated

by an appraiser or engineer. The IRS examples
use 45 years for the useful life of a house, and so this is often treated as a viable estimation depending upon
the condition of the home.

Following the cue from the IRS example for this type of deduction, suppose that the residence will
depreciate over 45 years. This, along with the {7520 interest rate and the donor’s age, is the only information
needed to use the IRS tables to complete the calculation. Following the instructions of IRS publication 1459
(www.irs.gov/pub/irs-pdf/p1459.pdf) download table C (www.irs.gov/pub/irs-tege/table_c_2009.xls) and
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scroll down to the segment titled with “Interest at 1.6 Percent” (or whatever the appropriate §7520 rate is for
the date of the transaction). The numerator of the depreciation reduction factor is the R factor at the donor’s
age minus the R factor at the donot’s age after the useful life of the house (assuming the donor is the
measuring life for the retained life estate). In this case, the numerator is the R factor at age 59 minus the R
factor at age 104 (i.e., the age 59 measuring life + the 45 year useful life of the house). (If the life tenant’s age
plus the useful life of the house exceeds 109, which is the highest number on the table, simply use 0 for the R
factor at the donor’s age after the useful life of the house.) When using table C with a 1.6% §7520 rate, this
makes the numerator 510,527.3-77.95371 (or 510,449.34629). The denominator of the depreciation
reduction factor is the D factor at the donor’s age multiplied times the useful life of the house. In this case,
the denominator is the D factor at age 59 multiplied by 45, or 34667.69 X 45 = 1,560,046.05. Combining the
numerator and denominator results in 510,449.34629/1,560,046.05, or 0.32720. This is the depreciation
reduction factor used in the previous calculation. In other words, this is how much less the percentage
deduction for the depreciable portion will be as compared with the land portion. In this example, the land
portion can be deducted at 71.057%. The depreciable portion must be deducted at 32.720% less (i.e.,
38.337%).

The process of plugging in the R-factor and D-
factor numbers and then subtracting this result
from the remainder interest factor in order to
get the factor to apply to the depreciable part of

Underlying formula gives same result

i.e., it equals remainder factor — depreciation reduction factor

Present value of

the future % of value the home is a shortcut to getting the result
amount in the % chance of donor remaining in rated bv the formula found in the IRS
middle of each || death in each yearof || the middle genela.e YTh. ef ° 1“?" ound In the
year building’s remaining life | | of each year | | regwations. 1his tormula 1s

iy / LY., 1 ¢t
1+ il | B B0y Y P4 l-————]
2);‘ [ [ ] [ l, ) . 2n n

n = the building’s estimated useful life, e.g. 45

i =the 7520 interest rate, e.g. 0.02

v = 1/(1+ the 7520 interest rate), e.g. 1/1.02

x = the age of the life tenant, e.g., 59

Ix = expected number of persons living at age x out of 100,000 births as set forth in Table

2000CM (available for download at http://www.irs.gov/Retirement-Plans/Actuarial-Tables)

4 =y -l I s
1+ I]Z pH 1...%;'1 — | =t ]._l &i]
23 [ I 2 n

Where:

n = the building’s estimated useful life, e.g. 45

i = the 7520 interest rate, e.g. 0.02

v = 1/(1+ the 7520 interest rate), e.g. 1/1.02

x = the age of the life tenant, e.g., 59

Ix = expected number of persons living at age x out of 100,000 births as set forth in Table 2000CM (available
for download at http://www.irs.gov/retitement-plans/actuarial-tables)

It is possible to calculate this formula directly. The result of calculating the formula directly is the remainder
interest factor to be applied to the depreciable portions of the personal residence (not just the depreciation
reduction factor). The results should match those from using the shortcut method described above.
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L

4
Although the formula above looks quite intimidating, it can be explained descriptively. . E-T Starting
inside the equation, this ratio uses the Lx numbers, representing the number of people, out of 100,000 births,
expected to be alive at any given age. The ratio is the number of people, out of 100,000 births, alive at the
donor’s age+t+1 years over the number of people, out of 100,000 births, alive at the donor’s age. For
example, if the donor were 59 years of age, then the first calculation where t starts at zero would be the
number of people projected to be alive, out of 100,000 births, at age 60 (87,595) divided by the number of
people projected to be alive, out of 100,000 bitths, at age 59 (88,441). This ratio (87,595/88,411), or 99.08%
is the likelihood that a person who is age 59 will live another year. Subtracting this ratio from 1 (in this case
resulting in 0.92%) gives the likelihood that a person who is age 59 will 7oz live another year.

e
E-T I—* This bracketed part of the formula identifies the probability that the donor will die
during a particular year for each year of the useful life of the home. We start with t=0, in which case the right
hand parenthesis also equals zero. In our example of a 59 year old donot, the probability of death in the first
year is, as calculated above, 0.92%. The probability of death occurring in the second year is the probability of
death occuring within the first two years (left side parentheses) minus the probability of death occurring in
the first year (right side parentheses). The probability of death occurring in the third year is the probability of
death occurring within the first three years (left side parentheses) minus the probability of death occurring
within the first two years (right side parentheses). This probability is thus calculated for each year of the
useful life of the home (e.g., 45 years).

s

2n This parenthetical calculation gives the percentage of value that will remain in each year,
assuming straight line depreciation, for the depreciable parts of the house. For example, if the house is
expected to have a 45 year useful life, then by year 20, it would be 44.4% depleted (20/45 = 44.4%), meaning
that 66.6% (1-44.4%) of the value would remain. This explains the left and right portions of the parenthetical
statement, but not the middle piece. Why would we also subtract 1 /(2 X the useful life of the house)? This
simply reflects the additional depreciation (wear and tear) that occurs for the 6 months required to get to the
middle of the year. This assumes that if the person dies during a year, they will die not at the beginning or the
end, but in the middle of the year, so the depreciation will be %2 year. For example, the projected remaining
share of the value if the donor died in the first year (t=0) would be 1-(1/90), or 98.89%, (the right side ratio is
zero), reflecting the idea that the donor is projected to die in the middle of the year. The projected remaining
share of value if the donor died in the tenth year (t=9), would be 1-(1/90)-(10/45), reflecting the idea that the
donor/life tenant is projected to die in the middle of the year and the 1 /90 depreciation that occurs during
those six months must be substracted.

e

=l This final portion of the summation calculates the present value of the future amount. The »

represents 1/(1+ the §7520 interest rate). If the §7520 interest rate is 1.6%, » would equal 1/1.016, or
98.425%. Thus, the present value of receiving the asset in year one is 98.425% of the projected value of the
asset. The present value of receiving the asset in year two is 96.875% (from 98.425% X 98.425%) of its
projected value in year two. The present value of receiving the asset in year three is 95.3649% (from 98.425%
X 98.425% X 98.425%) of its projected value in year three, and so on for each year of the projected life of the
home. The final adjustment noted by the parenthetical component to the left of the summation symbol
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increases the present value based upon the idea that the amount will be received not at the end of the year,
but in the middle of the year. Thus, if interest rates are 1.6%, the final amount is increased by .08%
(multiplied by 1.008 because 1+(.016/2)=1.008) to reflect the value of receiving the asset in the middle of the
ear, rather than at the end of the year.
Formula required to calculate factor Unfortunately, there is no shortcut method for
for the depreciab|e part for two |ive5 calculating the remainder interest factor to be
[]+ v““’ [[ ml] [] ,.m] [ m] [] i ]] [ applied to the depreciable portions of the
2n n

personal residence if the life estate is for more

n = the building’s estimated useful life, e.g. 45 than one life. If the life estate will last for the
i =the 7520 interest rate, e.g. 0.02 .
V= 1/(1+ the 7520 interest rate), e.g. 1/1.02 lives of two people, then the formula for the

x & y = the ages of the life tenants, e.g., 59 & 62

Ix &Iy = the number of persons living at ages xand yin | remainder interest factor to be applied to the
Table 2000CM (http://www.irs.gov/Retirement- A i . A
Plans/Actuarial-Tables) depreciable portions of the personal residence is

the following:

Or, for an actual
contribution,
you can ask the
IRS to calculate

this for you
[1+ - Zv“*”

:r+:r+1 J-'+?+1 -11- J'+?
i
Where:

n = the building’s estimated useful life in years, e.g. 45

i = the 7520 interest rate, e.g. 0.02

v = 1/(1+ the 7520 interest rate), e.g. 1/1.02

x and y=the ages of the life tenants, e.g., 59 & 62

Ix and ly=the number of persons living at ages x and y as set forth in Table 2000CM (available for download
at https://www.irs.gov/retitement-plans/actuarial-tables)

This can be calculated by hand, in this case requiring a summation of 45 different calculations, one for
each year of the useful life of the property. However, it requires more steps than the short-cut method
available for single life calculations. The parts of the equation represent the same ideas as in the one-life
example. The only difference in the equation is that the middle bracketed portion

[1_£x+:r+1] 1_"’?}'+?+1 _[1_jx_+r] 1_5?}'_”
I, 3 I, 3

now estimates the joint likelihood of the death of both life tenants, rather than just one.

If the calculation for the remainder interest factor to be applied to the depreciable portions of a two-life
remainder interest gift appears too daunting, you may request the IRS to furnish this factor to you. To do so
requires that you are dealing with an actual contribution (not simply a proposal), and that you forward the sex
and date of birth of each life tenant, copies of the relevant instruments, and a statement of the estimated
useful life of the depreciable property to the Commissioner of Internal Revenue, Attention: OP:E:EP:A:1,
Washington, DC 20224.
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For a fixed term, just assume
value of depreciable part
reduced by (term/useful life)

Ex: In 20 years house will be valued at

$20,000 land + $10,000 salvage +

§70,000—£S70,000 x (20/45)], or
68,888.89.

Deduction is $68,888.89 X remainder
value for 20 year term certain from

A donor may also choose to give a remainder
interest in a personal residence where the
donor will retain the right to use the property
(or give that right to someone else) for a fixed
number of years. For example, the donor
could deed a personal residence to a charity
with the provision that the donor retains the
right to use the property for 20 years. In this
case, the deduction is based upon the
projected value of the personal residence in 20
years. The current land and salvage value of
the building are not depreciable, and so they
are assumed to be worth the same amount in
20 years as they are today. The depreciable
part of the personal residence will be reduced

table B https://www.irs.gov/retirement-plans/actuarial-tables

in value by the fixed number of years divided
by the useful life of the building. For example, if a $100,000 residence was estimated to have a useful life of
45 years, with land value of $20,000 and salvage value of $10,000, then in 20 years the estimated value would
be $20,000 land + $10,000 salvage + $70,000 depreciable building — [$70,000x(20/45)] depreciation, ot a total
of $68,888.89. Based on the idea that the charity is projected to receive an item of property worth $68,888.89
in twenty years, the deduction for such a transfer would be $68,888.89 multiplied by the remainder interest
factor for a term certain of 20 years. These remainder interest factors are published in Table B: Term Certain
Factors available for download at https://www.irs.gov/retitement-plans/actuarial-tables. For a 20 year term
when the §7520 rate was 1.6% at the time of the gift, the remainder factor would be 0.727991. Thus, the
deduction for the transfer of this future interest in the personal residence would be $68,888.89 x 0.727991, or
$50,150.49.

Finally, if the value of the land may be reduced by depletion of its natural resources (e.g., valuable
mineral rights), the expected depletion must be taken into consideration in estimating the value of the
charity’s remainder interest, although no specific methodology is mandated.

The remainder interest gift allows the donor to
retain the use the property for the rest of his or
her life. (Actually, it is much more flexible than
this, allowing for any period of years or the life
or lives of any person or group of people, but
such alternatives are rarely used.) — What
happens if the donor no longer wishes to use
the property?  Perhaps the property is a
personal residence and the donor decides to
move away to a warmer climate or to a nursing
home. Or perhaps the property is farmland
and the donor becomes unable or uninterested
in continuing to farm. Whatever the
circumstances, cither anticipated or
unanticipated, the donor still has a vatiety of
options available when he or she no longer

What if the donor
leaves?

wishes to personally use the property.
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One easy solution is for the donor to simply
rent out the property and take the income. If
moving to a distant state, the donor will likely
hire a property manager to manage the leasing
and maintenance of a residence. It is also
possible to sell the life estate to an investor who
would then rent out the property, although such
transactions are rare. If the charity owning the
remainder interest is co-operative, both the life
estate and remainder interest can be combined
and the property can be sold with normal “fee
simple” ownership. (The division of proceeds
between the charity and donor must give the
charity at least as much of a share of the
proceeds as the IRS tables indicate the
remainder interest is worth, based upon the
donor’s age at the time of the sale.) Most charities holding a remainder interest would be more than happy to
agree to a sale and division of the proceeds.

Although less common, a charity could agree to issue a Charitable Gift Annuity (discussed in a separate
chapter) in exchange for the donor gifting the life estate. The gift of the life estate would allow the charity to
combine the life estate and remainder interest and sell the property whole. Proceeds from this sale could then
fund the gift annuity payments. Of course, the same could be accomplished by a joint sale where the donor
used the proceeds from his or her share of the sale to then purchase a gift annuity. However, this transaction
would require the donor to immediately recognize any capital gain upon the sale of the property, whereas the
gift annuity transaction would postpone such taxation. (Conceptually, the donor could even place her life
estate interest into a Charitable Remainder Trust prior to a joint sale in order to avoid capital gains taxes.
However, this is rarely done because the transaction amounts are not normally large enough to warrant the
use of the more complex transaction and because the donor could not use or live in the property after it was
transferred to the Charitable Remainder Trust.)

Finally, of course, if the donor were financially capable and charitably inclined, the donor could give his
ot her life estate to a charity. The gift could be to a charity holding the remainder interest or to any other
charity. This is a deductible gift (even though it is the transfer of only a partial interest in property) because
the donor would be retaining no interests in the gifted property.

What if the donor
leaves?

Give life
estate to
charity

Agree with Give life

the charityto  estate to

a joint sale charity in
and divide  exchange for
proceeds  a gift annuity

Rent Sell life
property estate

Will the donor| One concern a charity may have about such
maintain the transactions is whether or not the donor would

roperty? choose to maintain the property. Of course, a
property: charity could take the attitude that some gift is
better than no gift and not concern itself about
the risk of the property deteriorating ot burning
in the meantime. But, suppose the charity
wished to maintain the value of its remainder
interest — what are its options?
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Will the donor| Although unfamiliar to most people, the life
maintain the| cstte / temainder interest property division is a

roperty? very old form of property ownership. Because
Propemysi ;i long history, the rules for such ownership
are well established in court cases (referred to as
common law). These rules require that the
owner of the life estate, referred to as the “life
tenant,” pay for maintenance, insurance and
taxes (a.k.a. MIT) on the property. Should a life
tenant fail to pay for these, the holder of the
remainder interest has the right to force
payment through court action. Some charities
like to avoid such legal actions, if at all possible.

R
’ lea

5

L - AGTR .,» G ey .
Common law requires the £life tenant” to > to s,
Maintain, Insure, and pay Taxes on the property This is one reason why it is common for

Some charities require a written MIT contract charities soliciting remainder interest gifts to
require a written “MIT” contract (Maintenance-

Insurance-Taxes). By requiting such an agreement, the charity can ensure that the donor understands his or
her obligations. Even if the agreement places no more obligations on the donor than those provided for in
common law, it can help to resolve conflicts by serving as a reference point for future conversations. This
can be especially important in circumstances where the original donor is no longer managing the property due
perhaps to incapacity or where the donor was not the life tenant. The typical scenario, where a donor is the
life tenant, usually creates few problems because the donor wishes to benefit the charity. However, if the life
tenant is hostile to the charity, problems are more likely to arise. For example, a donor could direct in his will
that a personal residence could be used by his sister for life with the remainder interest going to the donot’s
favorite charity. In this case, the life tenant may have no interest in or connection with the charity. When
there is no relationship and the life tenant fails to maintain, insure, or pay taxes on the property, the charity
can take one of several strategies. Using a standard approach, the charity can simply enforce its legal rights
through court action. Although this path is available, some charities might decide not to enforce their legal
rights because of a risk of “bad press.” In this case, it would probably be best for the charity to sell its rights
to another investor, who would likely be far less concerned about public relations. If the charity is unwilling
to enforce its rights or sell its rights to another investor, then the charity must be content with the land or
salvage value of the property remaining at the life tenant’s death. Note that, depending on state law, it may
not be wise for a charity to intervene by paying taxes on the property. Unpaid taxes will ultimately result in
the forced sale of the property, the proceeds of which will be subject to distribution, in part, to the charity as
holder of the remainder interest.
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What if | make

improvements to my
residence after giving
a remainder interest?

Can deduct the
remainder value
of major

as additional
gifts

PLR9329017; PLR 8529014

The life tenant has the obligation, either under
common law or under a written “MIT”
contract, to maintain, insure, and pay taxes on
the property. But, what about a life tenant who
wishes to make improvements to the residence?
Such improvements are certainly allowed by
common law, although they must truly be
improvements and not diminish the value of
the property. What are the tax consequences of
making improvements to property in which the
remainder interest is owned by a charity?

The indication from IRS private letter rulings is
that improvements made to property where the
remainder interest is owned by a charity
constitute additional charitable gifts.
Improvements to a residence, such as the
addition of a bedroom, increase the value of the
property. The deduction would be based upon
the increase in the value of the property
multiplied by the percentage attributable to the
remainder interest owned by the charity. This
would be the same calculation process used
previously, but updated for the donot/life
tenant’s current age. Thus, a donor who has
given a remainder interest in his home to his
favorite charity can generate additional tax
deductions for any improvements made to his

home so long as a charity owns the remainder interest at the time of the improvement.
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powerful charitable planning is not just for the wealthy.
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The charitable gift of a remainder interest in a
home or farmland with a retained life estate is a
relatively simple transaction that begins to
demonstrate the power of sophisticated
planning. Donors are able to take an immediate
tax deduction without making any changes to
the way they will use the property for the rest of
their lives. Donors can use the value of this
deduction to spend on themselves, invest in
income producing assets, or even purchase tax-
free life insurance for heirs through an ILIT.
Although infrequently used, for the right donor
and the right charity, gifts of remainder interests
in homes and farmland with a retained life
estate can be a powerful technique. As this
simple strategy demonstrates, creative and



